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MATHS

Al. 6,70 + 4,290 - 99 f+i- Qo 13-
Q2. 6,585 - 1,999 - QI Sxi= Q2. 3:a-

A3. 1,782 x § - QI3 5 x9= QI Zops

NG  98L = 5 - Q5. What is 549,999 rounded +o the nearest 100,000?
R5 578 x 3L = Ql6. What are the common factors of 12 and 20?
R6. [ 2174 =+ |4 = QI. List the prime numbers between 20 and 30
Rl 723 + 23 X 723 = QI8. | foot = 12 inches, so 8l inches = ? feet

& g 2, 0 2 5 - ? _ g / lé_?/iqwxjn :/::e;;oelcuo/:::r;;o?s%s £50. The concert makes £200,000.

Cha//enge-' If the answer is 256, what could the egua*ion be? For examla/e, 2571-1=256 What are the most
comp/ica*ea’ equa*ions you can come up with? Try fo include eoluaﬁons using BIDMAS.



Leisure

What is this life if, full of care,
We have no time to stand and stare.

No time to stand beneath the boughs
And stare as long as sheep or cows.

No time to see, when woods we pass,
Where squirrels hide their nuts in grass.

No time to see, in broad daylight,
Streams full of stars, like skies at night.

No time to turn at Beauty's glance,

And watch her feet, how they can dance.

No time to wait till her mouth can
Enrich that smile her eyes began.

A poor life this if, full of care,
We have no time to stand and stare.

By William Henry Davies (1871-1940)

ENGLISH
READING
PART 1

Year 6 Reading Assessment Poetry

1. Which three animals are mentioned in the poem?

2. What is the meaning of the word ‘boughs’? Tick one.

stars in the sky O blades of grass O
branches of a tree D streams of water D

3. Several lines start with the repeated phrase ‘No time’.

What is the purpose of repeating these words?

4. What do you think the author means by ‘streams full of stars’?

5. Find and copy a phrase which could mean ‘too occupied with worry'.

12
total marks

1 mark

1 mark

1 mark

1 mark

1 mark



Leisure

What is this life if, full of care,
We have no time to stand and stare.

No time to stand beneath the boughs
And stare as long as sheep or cows.

No time to see, when woods we pass,
Where squirrels hide their nuts in grass.

No time to see, in broad daylight,
Streams full of stars, like skies at night.

No time to turn at Beauty's glance,
And watch her feet, how they can dance.

No time to wait till her mouth can
Enrich that smile her eyes began.

A poor life this if, full of care,
We have no time to stand and stare.

By William Henry Davies (1871-1940)

ENGLISH
READING
PART 2

6. Look at the line ‘No time to turn at Beaury's glance’

1 mark
Why is a capital letter used for the word ‘Beauty’?
7. Draw lines to match these parts of the poem with their correct movement or actions:
1 mark
(sheep and cnws) ( hide nuts in grass )
( squirrels ) ( dance and smile )
( Beauty ) ( stand and stare )
8. In your own words, explain what message the poet is trying to give the reader.
3 marks
9. The title of the poem is ‘Leisure’. How does the word ‘leisure’ link to the theme of the poem? Use
evidence from the text to support your answer. ’




ENGLISH WRITING Write a narrative extract describing this picture
Setting description: TR B T R T s e st —
e Use powerful adjectives to describe  ESSRG AR §Ff WIFZE 5 @@ N %Ew ¥
what you might see, hear, smell, AT SN T Y N %

touch and taste.

e Use a variety of expanded noun
phrases, similes and metaphors to

make your writing interesting.

* How would you feel if you were in
this place?

* Where might you be going?

e Create a word bank of ideas to
include in your writing.




GEOGRAPHY Research where different Foods come From.

-
‘:&1‘?}1} rr : ‘..

Task 1: Think of your favourite snack.

Some examples include: a yoghurt, a fruit
yoyo, a cheese string, a peperami stick or a
croissant.

Your challenge is to find out where in the
world the ingredients come from to make this
snack. Start by looking at the packet.

P Ty Oy Ingredient
. e ) . . . = X . RS P
Miss Martin's favourite snack is a croissant; 2 onliags  egos Chicken farm - UK
most of the ingredients needed to make a | .. milk Dairy farm - UK
croissant can be produced within the UK yet f‘g) | | flour Wheat - UK
the UK doesn't produce the most croissants. _.__f'f" el ‘ | sugar Sugar cane - Brazil
Why do you think this is? . .‘,E cream Dairy farm — UK
gmg{;e;t e aisins SR strawberry jam Strawberries — UK, Sugar - Brazil

Bonus challenge: use the scale of Google Maps to calculate how many miles the

ingredients have had to travel to get to the UK.
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